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FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH -2024

Pait - III Tme  2Hours
BIOLOGY Cool-off tume - 15 Minutes

(Botany & Zoology) Preparatory Tme : 10 Minutes
Maximum : 60 Scores

4 General Instructions o Candidates : ‘\

® Thereisa ‘Cool-off time’ of 15 mmmutes n additionto the writmg tame. Further there 15

a ' 10 mmutes’ ‘Prepardory Time' at the end ofthe Botany Examunation and before the
commencement of Zoology Exanumnation,

Use the ‘Cool-off time’ to get famihar with questions and to plan your answers
Read questions carefully before answering

Read the mstructions carefully

Calculations, figures and graphs should be shown m the answer sheet ttself
Malayalam version of the questions is also provided

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed m the
Exammation Hall
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PART -A
BOTANY
(Maximum : 30 Scores) Time : 1 Hour

Answer any 3 questions from 1 to 4. Each carries 1 score. Bx1=3)
Fill m the blank -
The dark reaction of photosynthesis takes place at of the chloroplast.

Choose the correct answer

Monocot seed consists of one large and shield shaped cotylidon known as
(a) Aleurone layer (®) Scutelum

(¢) Coleoptile (d) Coleorhiza

Which class of algae 15 commonly known as Brown algae ?

Which of these cell organelles 15 not covered by a membrane ?

() Golgibodies () Endoplasmicreticulum
(c) Ribosomes (d) Vacuoles
Answer any 9 questions from Sto 15. Each carries 2 scares. 9x2=18)

(@) Write the name of the phase of Prophase-I of Meosis m which crossing over
takesplace.

(b) What isthe significance of arossing over ?

Match the following : (% x 4)
Class of Fungi Example
(@) Phycomycetes (1)  Agaricus
() Ascomycetes (1) Alermara
(¢) Basidiontycetes () Rhizopus
(d Deuteramycetes (v)  Penicillum

(@) What 15 Glycolysis ?
() Where does it takesplace ?

(@) Write one function of Abscisic acid
(®) Why Abscisic acid 1s known as ‘ Stress hormone’ ? 1
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PART -A

BOTANY
(Maximum : 30 Scores) Time : 1 Hour
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9  Write two differences between the anatonty of Stem and Root.

10 Observethe pathway of Anaerobic respiration given below

Glucose

d
4

Glveeraldehyde

3-IPhosphue

J-Phosphoglyceric
acid

4

Phowphoenol
Pyruvic acid

NALT

NADH+H™

A
NAD'

NANH-H*

Pyruvic

4l AnH-H
C
\ = NAD

B 1CO,

(@) Labelthe compounds marked as A & B

(b) What happens to pyruvic acid in muscles if oxygen 15 inadequate ?

11 (@) Wrte the function of stomata.

1

(b) What 1s the difference between the shape of Guard cells of Dicot plants and

Monocot plants (Grasses) ?

12 Arrange the given functions of plant hormones m appropriate colunms

(@) Ripenmng of frut

(®) Intiate rootmg in stem cuttmg
(c) Induceparthenocarpy

(d) Breaks seed and bud dormancy

Auxins Ethylene

13 Write brief notes about
(@) Thermoacidophiles
() Halophiles

14 (a) Whichplants are known as naked seeded plants ?

b) Why?

15.  Cellcycle consists of four phases- G, S, G, and M
Write one important event takes place during each phase.
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17.

18

19

Answer any 3 questions from 16 to 19. Each carries 3 scores.
Leucoplasts are classified into three types based on the stored food

@)
®)

Which are they ?
Write the name of stored food present

What 15 aestvation ?
Write the name of aestivation marked

@)
®)

mthem

as A, B, C and D in the given diagram

( \

U )

@)
Slack pathway)
®)
() Write two examples of C, plants.
Observe the figure of Citric acid cycle.
(@) Where does it takesplace ma cell?

() Write the name of compounds marked as A, B, C and D m the figure.

Which are the two types of cells that participates m C, pathway ? (Hatch and

What 1s the name of the first C, acid formed m this pathway ?

(3C)

CaA

(2C)

Acctvl cooney

Pyruvate

NAD

NADII IT*
C

me A

)_

) D A
NADH-H" :
wat?/
¢ u-kctuulut.mc dud o
(40) (¢
y CITRICACID CYCLE Lﬁ%&

FADH, C
= . B m'ﬂf}

FAD! ~ é(,np

uo) G
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PART -B

ZOOLOGY
(Maximum : 30 Scores) Thne : 1 Hour
Answer any 3 questions from 1 to 5. Each carries 1 score. Bx1=3)

The system of providing scientific name with two components 1s called
Water vascular system 1s present in

(@) Leech (b) Nertes

{(¢) Prawn (d) Starfish

Name the nucleotide form of guanme

The functional unit of a muscle contraction is called

Erythro potetin, a peptide hormone produced by

Answer any 9 questions from 6 to 16. Each carries 2 scores. ©x2=18)
Classify the followmg mto polypeptides and polysaccharides
(Trypsin, Inulm, Insulm, Chitin)

7  Observe the diagram of male reproductve system of Frog
Labela, b, c,d tax4)

FY-426




12

PART -B
ZOOLOGY
(Maximum : 30 Scores) Time : 1 Hour
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10.

11

Gve reason :
(a) AB blood group individuals are called unversal recipients 1
(b) SAN is called pacemaker of heart. 1

When substrate concentration mereases, the velocity of enzymatic reaction r1ses at first
After attaming maximum velocty, it 15 not exceeded by any further rise n
concentration of the substrate Why ?

Distinguish between
(a) Systole and Diastole 1
(b) Plasma and Serum 1

Indicate whether the followmng statements are true or false -

(a) Reptiles are ammonotelic animals

(b) Lungs and lwer also help m the elmimation of excretory wastes.
(¢) Inflammation of glomerul of kidney is called renal calculi

(@) Malpighian Tubules are the excretory structures of most of the msects mcluding
cockroaches *ax 4)

Henle's loop plays an mportant role n concentrating the urine How ?

Name the jont -

(a) The joint between adjacent vertebrae
(b) Jomt between skull bones

(¢) Jomt between atlas and axis

(@ Jomt between carpal and metacarpal of thumb M2 x4)

FY-426 10
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10 aiy@pPIve nf ¥ |
(a) Systole and Diastole 1

®)  qgaud, Mloa 1

11 @068 &I6aMam (@M MUl voml oo TP af) N W),

() Reptiles are ammonotelic animals
(b) Lungs and liver also help m the ehmumnation of excretory wastes.
(¢) Inflammation of glomerul of kidney 15 called renal calcul

(d) Malpighian Tubules are the excretory structures of most of the msects mchiding
cockroaches *ax4d)

12 ennmdedueroonial’ nousme)sia ayoo 9enioda (koo ool al &, afenem ?

13 avaula)es anl DY )0 .

(a) The joint between adjacent vertebrae

(b) Jomnt between skull bones

(¢) Jomt between atlas and axis

(d) Jomt between carpal and metacarpal of thumb *ax4)
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14. Which homonal deficiency 1s responsible forthe followmg ?
(a) Duabetes mspidus () Cretinism

(¢) Diabetes mellitus (d) Dwarfism *ix 4)

15 Give one word
(@ Warmblooded animals
() The body swrface is distinctly marked out into segments
() The propertyof a lwmg organiamto emut hght
(d) Sexes arenot separate Fix4)

16  Match the following

(a) Radula -~ Sycon

(b) Pmnae — Hydra

(¢) Osculum — Equus

(d) Hypostome - Loligo (*ax 4)
III. Answer any 3 questions from 17 to 20. Each carries 3 scores. 3x3=9)

17 Observe the diagram Answer the followng

(a) Identify the symmetry. 1
() State any two phylum mn which this condition can be seen 2
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(@) Duabetes msipidus () Cretinism
(©) Diabetes mellitus (d) Dwarfism x4

15 &gaineagy)ms:.
(a) Warmblooded animals
() The body surface 15 distinctly marked out into segments
(¢) The propertyof a lwvmg organismto emt light
(d) Sexes arenot separate x4

16  Gam)oais] aasBoa)a

(@ Radula —  Sycon
() Pmnae — Hydra
(©) Osculum — Equus
(d) Hypostome — Loligo (*ax4)

oL 17 max3 20 ueeman 62130 malol afoomlels 3 afgponian 9omo say)o) .
3 on;uﬁ alkow. Bx3=9)
17 all@o alokesdl 0o)xs,. O DI ODY ) D)k .

(8 ey muaACIW)NS Gl SO YT, 1

3

®) o LaAO] (1165 EOENM VENE) HENL EITBBING Gnl HOY NN .

FY-426 13 PT.O.



18, “The functioming of the kidneys 1s effectively monitored and regulated by hormonal

feedback mechanism mvolving the hypothalamus, JGA and to a certam extent heart ”

Explain the role of JGA m the regulation of kidney function

19 Observe the diagram Answer the question.

Nouratransmiticrs

Label

(@)

®

©

(@

(e) Name different types of synapses.

20. Define .
(@ Tiwdalvolume
(b) Residualvolume

() Vialcapacty

' FY-426 14
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19

20
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Ncurotransimitters
Label

(a)

®

()

)

(& alalw @os MIMITTNEUD RODEPS ?

afldo alea)e, .
(a) Tidalvolume

() Residual volume

(c) Vialcapacity
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